ITREE NBALERR BEEAL BeR

e % {5 At
par e P
ENE 1 589 Iri
BN 2 659 FBVEE
=i 3 732 FEAE R
HAE 4 802 REREENET
B 5 871
K LBIEEOBEORe TR E T, 2E B HOS SR ERIIRET
BE-BEE
BfE = EEZ fE=fEM
1 300 0
2 390 370 420
3@ 650 370 820
1) 1, 360 370 820
4 1,700 1090 1,310
A EEEE -2 OM
HE ok E
A ¥ &SR 18180 W T T4l EEBITEI LD
KRGS 16120 |[@ELATOKSERTEETSLD
TEE 18700M ITEOR, 71 —FOEWEEEIRE
BERE 1[E3, 000 BER

EYPERIRLEH (17 BIZZ<BUVmDET) smpaceraL-8s

12453 17 A E=5] A e
1 20, 600~45, 000 5)<§“@%%2[Kﬂ»§0)%&’6
2 61,000 62,500 %@?@@@-ﬁ”%

30D 71,000 84,500 (BAE. AR

30@ 93,000 106,500 ERR - BREARL)
4 131,000 137,500

ferk B 2024.4.1




